
Bänkbord Skagen
Monteringsanvisning

8042483



1

Jede woche

Varje säsong
Every season
Jedes Jahr
Chaque saison

Every week
Varje vecka

Chaque semaine

 2,0h

1
3

5

1

5
4x

1,74m

0,72m
0,45m

11

NR. Description MA Item Number QTY

1 990x990 mm 15740110 1

2 900x293 mm 15740111 4

3 678x673 mm 15740112 4

4 Stand, bench 690x408x241 mm 15740113 4

5 116x116x30 mm 715401 2

6 K6S M8x30 mm 302500 8

7 Ø9x22x1,5 mm 326002 8

8 M6S 8.8 M10x12H 302203 24

9 Ø11x18x2 mm 326015 24

10 MK6S 10.9 M10x80 mm 302517 4

11 40x40 mm 260390 4



4x
4

2

6

10
4x

47Nm

8
9

5

4x

47Nm

 
8

9

3

4x

47Nm

4

33Nm

8x

~10mm

2
8x

6 7

NR. Description MA Item Number QTY

2 900x293 mm 15740111 4

4 Stand, bench 690x408x241 mm 15740113 4

6 K6S M8x30 mm 302500 8

7 Ø9x22x1,5 mm 326002 8

8 M6S 8.8 M10x12H 302203 24

9 Ø11x18x2 mm 326015 24

10 MK6S 10.9 M10x80 mm 302517 4


